

$$= \frac{1}{2} \int \frac{2(x-1)}{x^2-2x+5} dx + \int \frac{(x-1)^2+2^2}{5} dx = \frac{1}{2} \ln|x^2-2x+5| + \frac{5}{2} \arctan\left(\frac{x-1}{2}\right) + C$$

$$= \int \frac{x-1}{x^2-2x+5} dx + \int \frac{x^2-2x+5}{5} dx$$

$$\textcircled{3} \int \frac{x+4}{x^2-2x+5} dx = \int \frac{x-1+1+4}{x^2-2x+5} dx$$

$$\textcircled{2} \int \frac{x^2+4}{x^2+4} dx = \int \frac{1}{1} dx = \frac{1}{2} \arctan\left(\frac{x}{2}\right) + C$$

$$\textcircled{1} \int \frac{x}{x^2-4} dx = \frac{1}{2} \int \frac{2x}{x^2-4} dx = \frac{1}{2} \ln|x^2-4| + C$$

$$= -\frac{1}{2} \ln|x+1| + \frac{1}{2} \ln|x-1| + C$$

$$\int \frac{1}{x^2-1} dx = \int \frac{-\frac{1}{2}}{x+1} + \frac{1}{2} \frac{1}{x-1} dx = \frac{1}{2} \int \frac{1}{x+1} dx - \frac{1}{2} \int \frac{1}{x-1} dx$$

$$\Rightarrow \begin{cases} A+B=0 \\ B-A=1 \end{cases} \Rightarrow \begin{cases} A=-\frac{1}{2} \\ B=\frac{1}{2} \end{cases}$$

$$1 = x(A+B) + B-A$$

damonjn alle

$$\frac{1}{(x+1)(x-1)} = \frac{A}{x+1} + \frac{B}{x-1} = \frac{A(x-1) + B(x+1)}{(x+1)(x-1)}$$

$$\textcircled{1c} \int \frac{1}{x^2-1} dx = \int \frac{1}{(x+1)(x-1)} dx$$

12) on fira no

$$\textcircled{2} \int \frac{4}{x-1} dx = 4 \int \frac{1}{x-1} dx = 4 \ln|x-1| + C$$

$$\begin{aligned} \textcircled{1} \int \frac{3x+2}{x-1} dx &= \int \frac{3x}{x-1} dx + \int \frac{2}{x-1} dx \\ &= \int \frac{3x-3+3}{x-1} dx + \int \frac{2}{x-1} dx \\ &= \int 3 + \frac{3}{x-1} dx + \int \frac{2}{x-1} dx = 3x + 3 \ln|x-1| \\ &\quad + 2 \ln|x-1| + C \end{aligned}$$

$$\begin{aligned} \textcircled{5} \int \frac{2x+1}{7x+1} dx &= \int \frac{2x}{7x+1} dx + \int \frac{1}{7x+1} dx \\ &= \frac{2}{7} \int \frac{7x}{7x+1} dx + \frac{1}{7} \int \frac{7}{7x+1} dx = \\ &\quad \frac{2}{7} \ln|7x+1| \end{aligned}$$

$$\begin{aligned} \int \frac{7x}{7x+1} dx &= \int \frac{7x+1-1}{7x+1} dx = \int 1 - \frac{1}{7x+1} dx \\ &= x - \frac{1}{7} \ln|7x+1| \end{aligned}$$

(*) NP
NP!

$$\begin{aligned} \int \frac{2x+1}{7x+1} &= \frac{2}{7} \left(x - \frac{1}{7} \ln|7x+1| \right) + \frac{1}{7} \ln|7x+1| + C \\ &= \frac{2}{7} x - \frac{2}{49} \ln|7x+1| + \frac{1}{7} \ln|7x+1| + C \\ &= \frac{2}{7} x + \frac{5}{49} \ln|7x+1| + C \end{aligned}$$

$$\textcircled{b)} \int \frac{x+1}{x^2+3x+2} dx = \int \frac{x+1}{(x+1)(x+2)} dx = \int \frac{1}{x+2} dx$$

$$= \ln|x+2| + C$$

$$\textcircled{c)} \int \frac{x+1}{x^2+ux+u} dx = \int \frac{x+1}{(x+2)^2} dx \quad \left\{ \begin{array}{l} x=u-2 \Leftrightarrow u=x+2 \\ du=dx \end{array} \right. \textcircled{2)3)}$$

$$= \int \frac{u-2+1}{u^2} du = \int \frac{u-1}{u^2} du = \int \frac{u}{u^2} du - \int \frac{1}{u^2} du$$

$$= \int \frac{1}{u} du - \int \frac{1}{u^2} du = \ln|u| + \frac{1}{u} + C$$

$$= \ln|x+2| + \frac{1}{x+2} + C$$

$$\textcircled{d)} \int \frac{2x+5}{x^2+ux+10} dx = \int \frac{2x+4+1}{x^2+ux+10} dx$$

$$= \int \frac{2x+4}{x^2+ux+10} dx + \int \frac{1}{x^2+ux+10} dx = \ln|x^2+ux+10| + \textcircled{e)}$$

$$\int \frac{1}{x^2+ux+10} dx = \int \frac{1}{(x+2)^2+6} dx = \frac{1}{\sqrt{6}} \arctan\left(\frac{x+2}{\sqrt{6}}\right)$$

$$\Rightarrow \int \frac{2x+5}{x^2+ux+10} dx = \ln|x^2+ux+10| + \frac{1}{\sqrt{6}} \arctan\left(\frac{x+2}{\sqrt{6}}\right) + C$$

10) $\int \frac{1}{2\sin x + 2\cos x + 4} dx$ הרצאה 23 עמ' 10

$t = \tan \frac{x}{2}$

$\cos x = \frac{1-t^2}{1+t^2}$ 1 $\sin x = \frac{2t}{1+t^2}$ 1 $dx = \frac{2}{1+t^2} dt$

$$= \int \frac{1}{\frac{2 \cdot 2t}{1+t^2} + \frac{2 \cdot (1-t^2)}{1+t^2} + 4} \cdot \frac{2}{1+t^2} dt =$$

$$= \int \frac{1}{2t+1-t^2+2+2t^2} dt = \int \frac{1}{t^2+2t+3} dt = \int \frac{1}{(t+1)^2+3+1} dt$$

$$= \int \frac{1}{(t+1)^2+2^2} dt = \frac{1}{2} \arctan\left(\frac{t+1}{2}\right) + C$$

11) $\int \frac{1}{2\sin x + 2} dx$ הרצאה 23 עמ' 10

$t = \tan \frac{x}{2}$ $\sin x = \frac{2t}{1+t^2}$ 1 $dx = \frac{2}{1+t^2} dt$

$$= \int \frac{1}{\frac{2 \cdot 2t}{1+t^2} + 2} \cdot \frac{2}{1+t^2} dt = \int \frac{1}{2t+1+t^2} dt$$

$$= \int \frac{1}{t^2+2t+1} dt = \int \frac{1}{(t+1)^2} dt = \int \frac{1}{u^2} du$$

$u = t+1$
 $du = dt$

$$= -\frac{1}{u} + C = -\frac{1}{t+1} + C = -\frac{1}{\tan \frac{x}{2} + 1} + C$$

(21) $\int \frac{1}{\cos x} dx$ (21) $\int \frac{1}{\cos x} dx$ (21) $\int \frac{1}{\cos x} dx$

$t = \tan \frac{x}{2}$ $\cos x = \frac{1-t^2}{1+t^2}$, $dx = \frac{2}{1+t^2} dt$

$$= \int \frac{1}{\frac{1-t^2}{1+t^2}} \cdot \frac{2}{(1+t^2)} dt = \int \frac{2}{1-t^2} dt$$

$$\frac{2}{1-t^2} = \frac{2}{(1-t)(1+t)} = \frac{A}{1-t} + \frac{B}{1+t} = \frac{A(1+t) + B(1-t)}{(1-t)(1+t)}$$

$$\Rightarrow \frac{2}{(1-t)(1+t)} = \frac{A+B + t(A-B)}{(1-t)(1+t)}$$

$$\Rightarrow \begin{cases} A+B=2 \\ A-B=0 \end{cases} \Rightarrow A=B=1$$

$$\int \frac{2}{1-t^2} dt = \int \frac{1}{1-t} + \frac{1}{1+t} dt = \ln|1-t| + \ln|1+t| + C$$

$$= \ln|1 - \tan \frac{x}{2}| + \ln|1 + \tan \frac{x}{2}| + C$$

(31) $\int \frac{1}{\sin x} dx$ (31) $\int \frac{1}{\sin x} dx$ (31) $\int \frac{1}{\sin x} dx$

$t = \tan \frac{x}{2}$, $\sin x = \frac{2t}{1+t^2}$, $dx = \frac{2}{1+t^2} dt$

$$= \int \frac{1}{\frac{2t}{1+t^2}} \cdot \frac{2}{(1+t^2)} dt = \int \frac{1}{t} dt = \ln|t| + C$$

$$= \ln|\tan \frac{x}{2}| + C$$

(10)

$$\int \frac{1}{\sin x + 1} dx$$

дифференциал заменить

$$t = \tan \frac{x}{2}, \quad \sin x = \frac{2t}{1+t^2}, \quad dx = \frac{2}{1+t^2} dt$$

$$= \int \frac{1}{\frac{2t}{1+t^2} + 1} \cdot \frac{2}{1+t^2} dt = \int \frac{2}{2t+1+t^2} dt$$

$$= \int \frac{2}{(t+1)^2} dt = -2 \int \frac{-1}{(t+1)^2} dt$$

$$= -2 \int \frac{-1}{u^2} du = -2 \cdot \frac{1}{u} + C$$

$$t+1=u \quad \text{или} \\ dt=du$$

$$= \frac{-2}{t+1} + C = \frac{-2}{\tan \frac{x}{2} + 1} + C$$